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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8

9)

This question paper contains 34 questions. All questions are

compulsory.

This question paper is divided into two Parts : Part — A and Part — B.

Part - A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the

given options as per the subject opted in Part — B.

Question numbers 1 to 16 and 27 to 30 carry 1 mark each.

Question numbers 17 to 20, 31 and 32 are short answer type questions.

Each carries 3 marks.

Question numbers 21, 22 and 33 are long answer type-I questions. Each

carries 4 marks.

Question numbers 23 to 26 and 34 are long answer type-II questions.
Each carries 6 marks.
There 1s no overall choice. However, an internal choice has been

provided in 7 questions of one mark, 2 questions of three marks,

1 question of four marks and 2 questions of six marks.
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1. (a) 3Fd fAfRs 3 T 24,00,000 i giErafEi 1 59 fRaT | 363 Tod 1 YA 3694
% 100 S % 9% RUTTAT hl 4% §g T I hieh foha | forskar ot fifia fopn

T SROTIAT <hl G oft
(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000

e
(b) 1 W%, 2023 I 3A feIfieg 7 ¥ 100 TS %, 10,000, 10% FOHAT Sl 10%
fiftrr w fifid fera foment siiem 10% Sftrm o ferem STem | o= o6 fiea

X g1t <k iy B
(A) % 2,00,000 (B) % 1,30,000
(C) % 1,00,000 (D) % 80,000

2. T[T qUT IHi Teh W o WIS & AT 4:1 % U1 § oY sied 8 | 8 ol # 1/4 9
= foru sfifer =l ush Fom ArggR s, T 38 quia: e & we fRa | e, s qen
fifer st 7T T forTeM ST 2
A 2:1:1 B) 11:4:5
(C) 3:3:2 (D) 7:5:4

3. U AR B & foEed W T 34,000 % EER 9 | T 1,000 % SHER T T AT IN
TR T 60% hT I T T8 | SHERT T SEell W HH & @Id ! A foham e qen
[EEIRUNE: B
(A) g @@ 33,000 9 (B) wH-IH @ar % 1,000 9
(C) T @@ 19,800 F (D) eTerR @M% 14,200 9

4. %1,50,000 ! 35 TRETRTET 33 TTqh oh feQ AfG fershar &1 2 1,25,000 3 I0f e
1T /9= ot fefee fehar et & @ 3 25,000 o6 319 bl ST foha e
(A) ATH-BI foemor (B) =fd @ H
(C) T oo @ | (D) - GHREISH @Td |

5. (a) Tom, G qen Yoy veh w1 Greier off | 31 W1, 2023 1 W] et & TS | W]

%I ¢ MM 2,17,000 T EEATAT 38h 0T GTd H L {1 T | W0 3 39 AT W
et 3TffRm, 1932 % TEUMT & JTHR AN o T dghfd € | 98 @ i

0] 1 ST <F BRI, 98 8
(A) 9% dien (B) 6% e
(C) 12% a1 (D) 10% d¥eh

YT
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PART -A
(Accounting for Partnership Firms and Companies)

1. (a) Arnav Ltd. purchased assets worth ¥ 24,00,000. It issued 9%
debentures of ¥ 100 each at a discount of 4% for payment of the
purchase consideration. The number of debentures issued to vendor

were :
(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000 1

OR
(b) On 1st May, 2023, Amrit Ltd. issued 10,000, 10% debentures of ¥ 100
each at a premium of 10% redeemable at a premium of 10%. Loss on

issue of debentures will be :
(A) % 2,00,000 (B) 1,30,000
(C) %1,00,000 (D) 80,000 1

2.  Gupta and Sharma are partners in a firm sharing profit in the ratio of 4:1.
They admitted Preeti as a new partner for 1/4th share in the profits, which
she acquired wholly from Gupta. New profit sharing ratio of Gupta,

Sharma and Preeti will be :
A 2:1:1 B) 11:4:5
(C) 3:3:2 (D) 7:5:4 1

3.  On the dissolution of a partnership firm there were debtors of ¥ 34,000.
Debtors of ¥ 1,000 became bad and 60% was realized from the remaining
debtors. Which account will be debited and by how much amount on the

realisation from debtors ?
(A) Realisation A/c by % 33,000 (B) Profit & Loss A/c by ¥ 1,000

(C) Cash A/c by % 19,800 (D) Debtors A/c by T 14,200 1

4. If vendors are issued fully paid shares of ¥ 1,25,000 in purchase
consideration of net assets of ¥ 1,50,000, the balance of ¥ 25,000 will be
credited to :

(A) Statement of Profit and Loss

(B) Goodwill Account

(C) Capital Reserve Account

(D) Profit and Loss Adjustment Account 1

5. (a) Riya, Rita and Renu were partners in a firm. On 31st March, 2023
Renu retired. The amount payable to Renu T 2,17,000 was
transferred to her loan account. Renu agreed to receive interest on
this amount as per the provisions of Partnership Act, 1932. The rate
at which interest would be paid to Renu is :

(A 9% p.a. (B) 6% p.a.
(C) 12% p.a. (D) 10% p.a. 1
OR
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(b) &, A T ST T TH H STR-SUE o WEIER & | T <Al Harfgi o geErd
o o ot o Gt 99 sRE: € 1,56,000 99T ¥ 1,08,000 & | ®H i A3 Uit
% 2,80,000 fagifa &t 73 | ¥ fol forem o f6 ISt 9w wm2ieRt & oy fawrsa
I HEntt | s T SR d i & e et o |
(A) % 40,000 (B) % 12,000
(C) % 20,000 (D) % 32,000

6. ol IrfafEd, 2013 & FEEMi o FFER Sfavfd Sfirm s 3w f 6§ fohees forg
T Toha ST T :
(A) 31T/ Bl T ohT B % frg
(B) 3T3Teh Y SIME 39901 /I1F0 o A < fee
(C) RIS o TTHA 92 2 Rl 3raforfiad s o fag
(D) 3Rk =1 i 3ferfad s & forw

7. (a) Toura fafiee 3 2 10 9% % 6,000 THAT A0/ IR BT 10% it w fFffa
T o ToTe 31ree 3t fepe | ey quf wa & stftrem &1 | wf svwr/9= afen
ST T e TR & o ot
JATEEd W — T 3, 3MMeed W — T 3 (fifeaw gfed), vom Im=-r © — T 3 9o A=
AT T — 3 2 | 200 3971 /3 o Teh Geh ST A ST o G1 & Toi U
ST T L AT | TS T T et T off

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000
GECH)

(b) TH s 3 T 10 T & 5,000 AT 30/ HI, T 10% HfEm
Ferifera femem o e, 3 2 wfa 3iwr/3RR 6t 3rf=mg Jr=ET 1 P T8 e W g
(Forfeit) & form | g =g7am TR i@ o 57 o7l /3= o1 gt wea g9: fifia

Tora ST Hehar 7, B
(A) 5,000 (B) % 10,000
(C) %12,000 (D) % 50,000

8. (a) T U ®= i ug s o@n dAv-giH faf = @rd o 7€ fohan S Eehar & 2
VIR SIS IR
(B) 3TE WA
(C) WTIERI <! YTd foam T feptrn
(D) HTIER I e
YA
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(b) Ravi, Vani and Tonmi were equal partners in a firm. After the
retirement of Vani, the capital balances of Ravi and Toni were
% 1,56,000 and % 1,08,000 respectively. The new capital of the firm
was determined at ¥ 2,80,000. It was decided that the capital will be
in proportion of the profit sharing ratio of the remaining partners.

Toni will bring for deficiency of his new capital.
(A) % 40,000 B) % 12,000
(C) % 20,000 (D) % 32,000 1

6. As per the provisions of Companies Act, 2013 Securities Premium cannot
be utilized for :

(A) buy back of shares

(B) 1issue of partly paid bonus shares

(C) writing off discount on issue of debentures

(D) writing off preliminary expenses 1

7. (a) Vishant Ltd. invited applications for issuing 6,000 equity shares of

% 10 each at 10% premium. The issue was fully subscribed. The
amount per share was payable as follows :
On application - % 3, on allotment - ¥ 3 (including premium), on first
call - % 3 and on final call - ¥ 2. Ashish the holder of 200 shares paid
the entire money along with allotment. The total amount received on
allotment was :

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000 1
OR

(b) M Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a premium
of 10% for non-payment of final call of ¥ 2 per share. The minimum
amount at which these shares can be reissued as fully paid up will

be :
(A) 5,000 (B) 10,000
(C) %12,000 (D) 50,000 1

8. (a) Which one of the following items is not dealt through Profit and Loss
Appropriation Account ?

(A) Interest on Capital (B) Interest on Drawings
(C) Rent paid to partners (D) Partner’s salary 1
OR
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(b) T HIISR % Ja9 & T W =1 feufa fomor 2 80,000 1 o= axfegfd =
oot @1 o1 | A &fagfd 1 2 1,00,000 % T BT SHEH HRET T
% 20,000 <hT HHI T :
(A) TR @Td H AT e S |
(B) YHcHTeR @Td | ST feham STaT |
(C) @T3ierl % ot @t # = fea s |
(D) @T3ieRi % ol @t # S fea s |
9. forsuy e vy ek W o TTIER § | iy ye ol 6 31a # we fafvea ufyr 1 e
HT 2 | I W RN 15% a1fies g & gia femarm Simar 2 | o & 37=q o His) &
JTET WSS 9,000 AT | HIP] <6 TTEVT T TS TG fehall 77 o7
(A) 67ERH (B) 7% HWER T
(C) 4% 7dR 3 (D) 47EAdE

freferfaa shreufes feufa w1 ufew i o7 @@ 10 T 11 % ST &R

rfefer qem Ty U wH § TSR A 9T 2:1 o 3TATd H o1 -g1iH 1 faveH st
& | 1 3T, 2022 1 3Fh! Tsft sHAT: T 5,00,000 AT  4,00,000 2t | 31 91, 2023
%I G BT TN 1, hig HI FHREISH i 8 99 %H 9 3 81,000 T G AW fid fopam |
FTIERI Tel@ o ITTAR St TS 10% a1fiies gt & fezm e |

10. 3fefa <t ISt == g

(A) % 50,000 (B) T 45,000
(C) % 40,500 (D) T 54,000
11. 3fefd wa gy &1 Ot W e ffetfaa 8 @ fopm arguma § feam strem 2
A) 54 B) 2:1
© 11 (D) 8:1

12. (a) o1 OAT AT Teh HH <hl AR o TUT 3:2 o AT § A1 a1 g1 St of |
IFhI GSft SRAST: % 5,00,000 TT ¥ 1,00,000 &t | 5= 8% aTfeh & § Yot W
=TS <1 3ATRRT off a2 3= € 5,000 Ui A8 Sl e § 9aq i It o |
fereht oft TTIeH & gd 3¢ @ % 1,75,000 o1 | faiford fop S atet @y 1 9=

T AT BATT
(A) % 45,000 (B) % 30,000
(C) 37,500 (D) Z 40,000

et

(b) iR T firan U W % ATHER 9 | 3R T 20,000 TR S T JfeRRRT oT;
Safes frar € 50,000 a1 AaT 1 JTfeRr AT | AR 3R ¥ 1 daqq g
FH & d1¢ 31 TE, 2023 P TUT 8 9Tt a9 HT1 g Y T 5,60,000 AT |
TR ok YST @Td | ST <hl ST aTelt et TR af
(A) % 2,45,000 (B) % 2,65,000
(C) % 3,15,000 (D) % 3,00,000
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(b) At the time of admission of a partner, the Balance Sheet of the firm
showed a workmen compensation reserve of ¥ 80,000. The claim for
workmen compensation was estimated at ¥ 1,00,000. The shortfall of
$ 20,000 will be :

(A) debited to Revaluation Account

(B) credited to Revaluation Account

(C) debited to Partners’ Capital Accounts

(D) credited to Partners’ Capital Accounts 1

9. Vishnu and Mishu are partners in a firm. Mishu draws a fixed amount at
the end of every quarter. Interest on drawings is charged @ 15% p.a. At
the end of the year interest on Mishu’s drawings amounted to ¥ 9,000.
Interest on drawings was charged on drawings of Mishu for :
(A) 6 months (B) 7 % months
(C) 4% months (D) 4 months 1

Read the following hypothetical situation and answer questions 10 and 11.
Aditi and Saurabh were partners in a firm sharing profits and losses
in the ratio of 2:1. On 1st April, 2022 their capitals were T 5,00,000 and
% 4,00,000 respectively. Before any appropriation, the firm earned a Net
profit of ¥ 81,000 for the year ended 31st March, 2023. According to the
partnership deed, interest on capital was to be provided @ 10% p.a.

10. Interest on Aditi’s capital will be :
(A) 50,000 (B) % 45,000
(C) % 40,500 (D) % 54,000 1

11. Interest on capital will be provided to Aditi and Saurabh in which of the
following ratio ?
(A) 54 B) 21
C) 11 (D) 8:1 1

12. (a) Vanya and Aanya were partners in a firm sharing profit and losses
in the ratio of 3:2. Their capital were T 5,00,000 and ¥ 1,00,000
respectively. Vanya was entitled to interest on capital @ 8% p.a. and
Aanya was entitled to salary @ ¥ 5,000 per month. The net profit
before any appropriation was % 1,75,000. Vanya’s share in divisible

profit will be :
(A) % 45,000 (B) % 30,000
(C) % 37,500 (D) % 40,000 1

OR

(b) Omkar and Shiva were partners in a firm. Omkar was entitled to a
salary of ¥ 20,000 p.a. while Shiva was entitled to a salary of
% 50,000 p.a. Net profit for the year ended 31st March, 2023 after
charging salary of Omkar and Shiva was ¥ 5,60,000. The total
amount credited to Omkar’s capital account will be :
(A) %2,45,000 (B) %2,65,000
(C) %3,15,000 (D) 3,00,000 1
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13. oT=aT, W T 3 Uk WA & |Teier o | f9m 9 wH @ 10% a1 et T 1,00,000
ST 0T ST o | B o1 SIETITA 0T T 6% dTNeh €L ¥ &7 & o 0 IR ¢ @1 2 | Fsm
! fopm <0 8 0T WSS T st 2

(A) 6% aTeh (B) 10% diyes
(C) 8% daiyeh (D) KU1 YT <hIS TSl T&! T Sma |

14. NPT (A) : TTEH FOET W AT 61 PIAH 39 e i fohaT I1am 8 ST 30 TR

ST H HeT™ SATeT HUH sl TEd LA & |

SRl (R) : A1 FOTHAT I YTt o gRI SAT=ANd [ohaT ST Hehal & 3T I T
SRUTIS ETeh! <1 oh13 1LehiS &l Tl 2 |

FrfeRaa o o9&l foehe o1 ==H il

(A) 3R (A) TSRO (R) QHI F&l & 3T BRI (R), SRR (A) i 68 @ 7 |

(B) RREA (A) 1 HRU (R) QHT T2 2, SAfehd HRU (R), 3Mehed (A) h1 #&
AT TR 8 |

(C) ANYERe (A) T &, Sifehd HRUT (R) TTEd 2 |

(D) AMEHRYA (A) T4 2, Tifshd SR (R) €T 2 |

15. anfec, fos aur foy ues % o A1eieR & qeim T -3+ SteR-se §ied o | 1 9T,
2023 1 AT 61 g &1 7S | IV FIEICRT 4 FH 1 GG Ie] T@H 1 o fora
T 9o | 1T Wl 4:3 o UG H die b1 fui form | oo qen fmw w1 srfeemy
AT 81
(A) 4:3 (B) 3:2
©) 5:2 D) 1:1

16. SAH (A) : Tl §Sht fafer & s, |meieri o doft Wid Hed ST 919 gifd 2 |

SR (R) : wrht OS50 fafy & srofa, asft wel 99 ow =1 g1f w1 v, O W =,
JTET0T, TGN T AT, 1 OGN Ueh STl WA H FohaT ST 8 ST TTEIERT o 9o
GTd g & |

fFrafaRea @ 9 w2 foerea =1 === Sifv

(A)  ATHET (A) TATHRT (R) SHT &l § 7AT HRT (R), 3R (A) i T8l 2@ 2 |

(B) ANYRYA (A) 71 %R (R) GHI T&T 7, wAfehd R (R), TR (A) I T2
T TE 2 |

(C) MR (A) & g, Tl RV (R) T 2 |

(D) FANRYT (A) TTeTd 8, wifeh Rl (R) G&1 2 | 1
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13. Kanha, Resham and Nisha were partners in a firm. Nisha had given a
loan of ¥ 1,00,000 to the firm @ 10% p.a. The accountant of the firm is
emphasizing that interest on loan will be paid @ 6% p.a. At what rate the
interest on loan will be paid to Nisha ?

(A) 6%p.a. B) 10% p.a.
(C) 8%p.a. (D) No interest on loan will be paid. 1

14. Assertion (A) : Interest on bearer debentures is paid to a person who
produces the interest coupon attached to such debentures.

Reason (R) : Bearer debentures are transferred by way of delivery and
the company does not keep any record of these debenture holders.

Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D) Assertion (A) is incorrect, but Reason (R) is correct. 1

15. Aditya, Vishesh and Nimesh were partners in a firm sharing profits and
losses equally. Aditya died on 1st July, 2023. Remaining partners decided
to continue the business of the firm and decided to share future profits in
the ratio of 4:3. The gaining ratio of Vishesh and Nimesh will be :

(A) 43 B) 3:2
(€) 5:2 D) 11 1

16. Assertion (A) : Under the fixed capital method, partners’ capital
accounts always show a credit balance.

Reason (R) : Under the fixed capital method, all items like share of profit
or loss, interest on capital, drawings, interest on drawings are
recorded in a separate account called partners’ current account.

Choose the correct alternative from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D) Assertion (A) is incorrect, but Reason (R) is correct. 1
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17. i, HidT qem S e WY o AR A U 4:3:3 % U H o1 &1 favem s
g | 1 378, 2023 | IR A1 I 1:2:2 % U1 § faviird o & fow weafa & 139
ferfer =1 e 1 g&aehi W 3 70,000 T FETT T o7 |
g HEAfd 5% foh
(i) W <l AT 3T Geiehd T 1,00,000 foram ST |
(i) TRl o TR qT SIS o QST 9t g1 3T Tf¥1 T 40,000 off |
Y Shl QETeh] H ST -Gl o 1T TTereares TS Nfar i |

18. (a) TTYY TAT HY HIPGR & IUT AT S-S Sied & | I8H A9 H TS 9H h

fore a1 =61 91 |EeR 99 &1 vl forn | 3 3evw & fow wi < @l
ToTeh STTUTTHI o TR 91 oh $h¥ oh STET T e ST o |
31.3.2023 I a7 o YaIu1 | & W o1 fefef T fm wehm o

31.3.2023 ! Y AT F 1 FRfar feremor
eand afar iRt afr
(9] ®)

o HeT 75,000
IS 90,000 B 15,000
k2 50,000 1,40,000 | &ieh 30,000

AT Fe 20,000 | gTeR 20,000

i 25,000 | Tg 50,000

R 5,000

1,90,000 1,90,000

Tl sh | €L 12% aTiYeh @ | TH ol TUsel IR a1 o1 3{1|d o9 % 30,000
T | TAT(cl § 91 < SIRT <hi 7O ST |
AT

(b) %I, TTEVT, ITEUT AT VT Ueh WH b HTSIGR A AT 5:3:2:2 o AT H o1 died o |
31 W, 2023 I 376 HATHIT &l TAT | TEOT, TR AT ST o HiTST § AR
S-SR S1e o1 TR T | 3707 o HaT-e B T HH 3hi SATHT o1 Fomeh
%°9,00,000 fora T |
319 T I TITAT H A §Y, ST QAT Wit ToHT SAThT 3 Si@iehd o fofg 3760
1 TG T 3TeRaeh UsHmeE1 Sefd hif |

19. (a) e fafids 3 sw fefiee & ¥ 4,50,000 1 T a1 AMAH 1 shT T | 31
feafirdg &1 WM T 50,000 T Th = <ot AT AY & fot T 100 T o 6%
SROTTAT ohl 20% o T FITHd hieh feham T |

Y A -¢HT o T g feafiree < qaent § StTarvares UsHme=n gfafsat i |
JYAT
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17. Nita, Mita and Karan were partners in a firm sharing profits and losses
in the ratio of 4:3:3. With effect from 1st April, 2023, they agreed to share
profits and losses in the ratio of 1:2:2. On that date, there was a General
Reserve of ¥ 70,000 in the books of the firm. It was agreed that :

18.

19.
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Goodwill of the firm be valued at T 1,00,000.

(1) Loss on revaluation of assets and re-assessment of liabilities

amounted to ¥ 40,000.

Pass necessary journal entries for the above transactions in the books of
the firm.

(a) Aayush and Krish are partners sharing profits and losses equally.

(b)

(a)

They decided to admit Vansh for an equal share in the profits. For
this purpose, the goodwill of the firm was to be valued at four years
purchase of super profits.
The balance sheet of the firm on 31.3.2023 before admission of Vansh
was as follows :

Balance Sheet of Aayush and Krish as on 31.3.2023

Liabilities Amount Assets Amount
® ®

Capitals : Machinery 75,000

Aayush 90,000 Furniture 15,000

Krish 50,000 1,40,000 | Stock 30,000

General Reserve 20,000 | Debtors 20,000

Loan 25,000 | Cash 50,000
Creditors 5,000

1,90,000 1,90,000

The normal rate of return is 12% per annum. Average profit of the
firm for the last four years was ¥ 30,000. Calculate Vansh’s share of
Goodwill.
OR

Varun, Tarun, Arun and Barun were partners in a firm sharing profits
in the ratio of 5:3:2:2. Arun retired on 31t March, 2023. Varun, Tarun
and Barun decided to share future profits equally. On Arun’s
retirement, Goodwill of the firm was valued at ¥ 9,00,000. Showing
your workings clearly, pass the necessary Journal entry for treatment
of Goodwill on Arun’s retirement without opening goodwill account.

Mahesh Ltd. purchased Plant and Machinery from Ish Ltd. for
T 4,50,000. ¥ 50,000 was paid by cheque to Ish Ltd. and the balance
by issuing 6% debentures of ¥ 100 each at a discount of 20%.
Pass the necessary Journal Entries for the above transactions in the
books of Mahesh Ltd.

OR




20.

21.
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(b) HivThT TS 7 T 100 T & 500 370 /3”A &1 801 (Forfeit) T 20 Uid
3TR1/3RR T TG AT q>T X 25 Wi 37/ 1 gEA qAT HA{H AT
YA T8 i T fofm | 90 | 250 3791 /3 1 T 50 Wi 3791 /371 9 qui
yed yA:fifta st feam mam | 3wt/ % g (Forfeit) @em ga:ffga <
st Tferfsat shifs |

TS 3R 3] T HY o AIRER 9 AT 1:2 % UG § AW -gTH ol faasy d o |
3I7eht TR St sREST: € 6,00,000 @91 T 3,00,000 2t | T % WA IR T o ¢ I8
T e T ok AT < TS | qd A9l Ho@ W 3TIER 12% it &t § TSl W
TSt fem ST o ; T8 Areier o ISt @rdil O ST E foha R |
JTETh TS U= Sfafd i | 370 Rl sl TaedT 8 gIisy |

T, e TuT U TR A qAT 2:3:1 % UTd H o1 sied o | 31 9=, 2023 1 361

et feremor fon wepm ot
31.3.2023 = T, U e Ag =t fRafe foaaor
T TR ®) wRmmfmEt T R)
TTER 3,62,000 | e 14,000
Y qY 18,000 | S 2,96,000
it wih 80,000
M 1,00,000 S 3,00,000
o 2,00,000 HeT ; iy N %
U1 3,00,000 6,00,000 | feru srarem 10.000| 290,000
IECH) 50,000
W 2,50,000
9,80,000 9,80,000

30 THAwsR, 2023 %! e I J &l 715 | Teh HTSHGR 31 o T ATHEN Hord H 7 61

T AT .

() A T AT TUSe i o1 o 3NEd @1 % €1 N1 o $hY o YR T T J |
foset €9 a9t o &9 9 : 2020-21 T 45,000; 2021-22 T 90,000 AT 2022-23

% 1,35,000.

(i) 9cg i Teifer Tk Fash TSGR < ATH hI TTUMET fUscl FH a1 o 3TEd AT % IR T

61 IRt |

TEH o ITAUTTRTIET ol T i oh ToTT IHeRT Yit AT IR I |
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(b) Manika Ltd. forfeited 500 shares of ¥ 100 each for non-payment of
first call of ¥ 20 per share and second and final call of ¥ 25 per share.
250 of these shares were reissued at T 50 per share fully paid up.
Pass the Journal Entries for forfeiture and reissue of shares.

Rajesh and Anu were partners in a firm sharing profits and losses in the
ratio of 1:2. Their fixed capitals were ¥ 6,00,000 and % 3,00,000
respectively. After the accounts for the year were prepared, it was noticed
that interest on capital @ 12% p.a., as provided in the partnership deed,
was not credited to the capital accounts of partners before distribution of
profits.

Pass the necessary adjusting journal entry. Show your workings clearly.

Ram, Ravi and Rohan were partners sharing profits in the ratio of 2:3:1.

On 31st March, 2023, their Balance Sheet was as follows :
Balance Sheet of Ram, Ravi and Rohan as on 31.3.2023

Liabilities Amount }) Assets Amount })
Creditors 3,62,000 | Cash 14,000
General Reserve 18,000 | Bank 2,96,000
Capitals : Stock 80,000

Ram 1,00,000 Debtors 3,00,000
Ravi 2,00,000 Less : provision for
Rohan 3,00,000 6,00,000 | doubtful debts ~__10.000 2,90,000
Investments 50,000
Land 2,50,000
9,80,000 9,80,000

Rohan died on 30th September, 2023. On the death of a partner the
partnership deed provided for the following :

(1) Goodwill was to be valued at two years purchase of average profit of

last three years. The profits for the last three years were :

T 45,000, 2021-22 T 90,000 and 2022-23 T 1,35,000.
(1) Deceased partner’s share of profit till the date of his death will be

calculated on the basis of average profit of last three years.

Prepare Rohan’s Capital Account to be rendered to his executors.

67/4/3/21/QSS4R
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22. UMa fafies T 100 & o 75,000 371 /3= | fawam T 75,00,000 61 31feeha IS0
< |1 Tsfihd ot | SHFOT A 45,000 37T /3R o FTHH 6 foTe s1rere smifa foru |
TR o1 YT e TP & < o
FEE W - ¥ 30 Ui 397/3IR, & T — T 30 T 3797 /3IRR, TUH AT T — T 25
fer 3797 /IR AT Y I AT W |
42,000 31971/ o6 TIU. 3Eie W g am |t STraen] i 3Teed L fem T |
I, {8 3,300 3791/ 1 A& foha1 T A1, ST AT T P HH H
G &I | 3Heh 37 /I b1 80T (Forfeit) T foram mam |
st arfafem, 2013 St SR 111, 9T 1 < 3aR o o feufa foamer § ot /9rr
St S ShifST | @t < Aed o §E1ET |

23. (a) 3AToRIT TUT TG Teh HH o TTHGH & AT 7:3 % UG H oY §ied & | 31 974,
2023 =l I9ehT Terfe ferawor fg wehm o
31 HTE, 2023 Y Jhw ar e 1 feafe faemor

®) ®
TR 60,000 | TTe 36,000
3Te TGl 9,000 | GTER 54,000
YA e 15,000 | =27 : Hfewe swon
HfUyEyE  6.000] 48,000
it Wi 60,000
AT 1,20,000 HeeR 1,20,000
BICK) 1,80,000/| 3,00,000 | wef=dt 1,20,000
3,84,000 3,84,000
1 379, 2023 I I8 AT H 1/4 W o TI¢ =T8d ol 7T 311 W Teh 731 TEIER
ST ¢
(i) =mead I USt o ' H T 90,000 T TN T o6 A 9T % folg
% 30,000 STET |
(ii) 3TGT TIGH hT YA T TeT ST |
(iii) e i 10% A ThIT T |
(iv) % 6,300 % TH SR, Frent oi@t gedent § T4l T 2, &1 o feman
SRAT |
Y Shl JETeh] 1 ST -Gl o foTq Tereares TS Nfar i |
GO
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22. Ronit Ltd. was registered with an authorised capital of ¥ 75,00,000
divided into 75,000 equity shares of ¥ 100 each. The company invited
applications for issuing 45,000 shares.

The amount was payable as follows : T 30 per share on application, ¥ 30 per
share on allotment, ¥ 25 per share on first call and balance on final call.
Applications were received for 42,000 shares and allotment was made to

all the applicants. Charvi, to whom 3,300 shares were allotted, failed to

pay both the calls. Her shares were forfeited. Present the share capital in

the Balance Sheet of the company as per Schedule III, Part I of the
Companies Act, 2013. Also prepare notes to accounts. 4

23. (a) Anikesh and Bhavesh are partners in a firm sharing profits in the
ratio of 7:3. Their Balance Sheet as on 31st March, 2023 was as

follows :
Balance Sheet of Anikesh and Bhavesh as on 31st March, 2023
e e1ses Amount Amount
Liabilities ®) Assets ®)
Creditors 60,000 | Cash 36,000
Outstanding wages 9,000 | Debtors 54,000
General Reserve 15,000 | Less : Provision for
doubtful debts _ 6,000 48,000
Capitals : Stock 60,000
Anikesh 1,20,000 Furniture 1,20,000
Bhavesh 1,80,000 | 3,00,000 | Machinery 1,20,000
3,84,000 3,84,000

On 1st April, 2023 Chahat was admitted for 1/4th share in the profits

on the following terms :

(1) Chahat will bring ¥ 90,000 as her capital and ¥ 30,000 as her
share of Goodwill premium.

(11) Outstanding wages will be paid.
Stock will be reduced by 10%.

(iii)

(1v) A creditor of ¥ 6,300, not recorded in the books, was to be taken

into account.

Pass necessary Journal Entries for the above transactions in the

books of the firm.

67/4/3/21/QSS4R
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(b) T, rfex e fohat Ush WY % TSER & aAT 7:2:1 % U H A9 Sied o |
31 |1, 2023 i 39eh1 fRufa feremor fr yepm o -

31 W=, 2023 = ST, whrfet g fersr w1 feufe foemor

AT TR iRt TR
®) ®
it i 12,00,000
B 9,60,000 o 9,00,000
HIfex  8,40,000 HTeR 3,60,000
fp™ 9.00.000| 27,00,000 | =ik 6,60,000
qT= 999 3,00,000 | eer 6,00,000
HIR @ffd g 5,40,000 | =T : Hfewer ol
e 3,60,000 | s fq gre=  _30,000( 5,70,000
EER- kU 2,10,000
39,00,000 39,00,000

Iudierd fafr skt freferfaa st X shifex Sramfaem &t

(i) W <! TATH T Godieh T 12,00,000 fora 71T |

(i) AT 30% | TG TR GAT 9 W 2 3,54,000 H GG THTIET SRR |

(iil) STERI T 6% 1 STaeH foram S |

(iv) MR &fagfd et 2 1,40,000 fgifa & 73 |

(v)  ohTTeL <l < TR <1 3Geh YT WA H B&ATa A ohT &1 T |

(vi) 7% WH &I $A S T 16,00,000 FHeifd 6 18 FERT THRISH 36 T
AT - TIHTSH STATT H =] WTd @ieTeht fohdll ST |

YHeHTR W1 AT HISGRT 3 Ysil @Td daR HfT |

24. (a)

st Tt 9 2 10 I8 6 2,00,000 FHAT 3730 /30 bl 20% Hiftem w frifid

i o foTu amree smufia febu | wfa 3ter/3mR i o1 Jram e TR @ < o
AT W — T 5, 3MEA W — T 4 (i afeq) qon A9 yom ug 3= I=E1 | |
AT 3 3,20,000 390 /R/ % forw maeT fhw, e @ 20,000 3790 /37
JATSIEHT I T& L T T qm 99 3ATegeh] sl SIS IR 9T 370 /3 61
TS L fe=m =T | 15,000 =M /3T <hY Teh HATaceh ohieldl 38 qT IrEET T
ST YA i H 3TE6e TEl | 35eh 390 /IR 1 501 (Forfeit) ST fetam = |
T ST JEdeh] § IURITR o -¢HT o foTT STTawres Ustmean gfafst Sif |
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(b) Prina, Qadir and Kian were partners in a firm sharing profits in the
ratio of 7:2:1. On 31st March, 2023 their Balance Sheet was as follows :

Balance Sheet of Prina, Qadir and Kian as on 31st March, 2023

Liabilities Amount Assets Amount
®) ®)

Capitals : Land 12,00,000

Prina 9,60,000 Building 9,00,000

Qadir 8,40,000 Furniture 3,60,000

Kian 9.00,000| 27,00,000 | Stock 6,60,000
General Reserve 3,00,000 | Debtors 6,00,000

Workmen’s Less : Provision for

compensation Reserve | 5 40,000 | doubtful debts _ 30,000| 5 70,000

Creditors 3,60,000 | Cash at Bank 2,10,000

39,00,000 39,00,000

(a)

On the above date Qadir retired. Following was agreed :
(1) Goodwill of the firm was valued at % 12,00,000.

(11) Land was to be appreciated by 30% and building was to be
depreciated by ¥ 3,54,000.

(iii)
(iv)
Z 1,40,000.

A provision of 6% is to be maintained on debtors.

Liability for workmen’s compensation was determined at

(v) Amount payable to Qadir was transferred to his loan account.

(v1)

Total capital of the new firm was fixed at ¥ 16,00,000 which will

be adjusted according to their new profit ratio by opening

current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts.

Lazal Ltd. invited applications for issuing 2,00,000 equity shares of ¥ 10
each, at 20% premium. Amount per share was payable as follows : ¥ 5 on
application ; ¥ 4 (including premium) on allotment ; and balance on first
and final call. Public applied for 3,20,000 shares, out of which applications
for 20,000 shares were rejected and shares were allotted on pro-rata basis
to the remaining applications. Kavita, an applicant of 15,000 shares failed
to pay allotment and call money. Her shares were forfeited.

Pass necessary Journal entries for the above transactions in the

books of the company.

67/4/3/21/QSS4R
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(b) =ig fafire 3 T 10 3% & 1,00,000 THAT /IR T T 2 Tl 3797/IRR
fftrem w frffir s & fore smae st o | fe siwr /e afdn <1 ymam fe
YR ¥ ¢ AT : 3T W — T 4 (fiftrm wfga), &ed W — T 5 9ur 99 yom ™
=W F=AT 91 1,80,000 371 /3R % T 319 W g€, {598 @ 30,000
I /ST o TG bl & hL feam T qem 99 ST1dgeh! Sl STHUTde SR W
TS/ BT AT HL feam T | AEE S 5,000 390 /A H e off g we
A= ATEAT T PIAH U § 31T T aUT 3Heh 330 /I 1 801 (Forfeit)
v T |

U ST o ToTT ot <hl J&aehl | 3TTereeh UsHH=T Tfafdat Sifs | 6

25. faftm afwmafai (T o S & stfafed) au g gt Soansti o ageft @ §
TG i o U9 Hifgd aur Ufgd 61 areiert v o forered w f=fafaa om-aAt
o ToTu 3Tervareh UsHm=T WSt hifer ;
() T e, foeent agiaa gedr € 10,000 o1 qn frept oraT, Tr@n-eden | el
feram e o, Mfga A T 7,000 A A |
(i) Ufgd s T 15,000 % 0T 1 T 13,500 | Teame gerar s feam mm |

(iii) W9 % 99 T 1,00,000 & o= & | Wifgd 7 50% e=m &b 10% §g W o |
Safes 39 fawm &1 T 60,000 | =1 fezm i |

(iv) g =™ T 23,000 9 |
(v) ¥ 45,000 % fafae oFeri &1 2 2,000 6 e T f&ame gehar st femm mi |
(vi) ¥ 12,000 3} Sl <t g1 I ATSERT o = 3eh ey -faarei S1uma o sfe fe

T | 6

26. Trfafea aideafaat & gom fafiee A qedshi § ol & ol qe ol & e
T §3/ETM B STARIRTT i o TAU STTaweh UsHT= Sfafdat Hif ;
1) ¥ 1,000 T & 900, 6% FOTIAT T FHET 5% &g W T T, et weq
e R fohar stmam | wfeufe shftem @ 619w 2 50,000 2 |
(i) T 1,000 I & 700, 8% FOTHHT T A 10% w8 W T, fomept sem
10% Sfifererm oz fopam smarm | whergfer hftrem @ 199 2 1,00,000 2 | 6
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(b) Chand Ltd. invited applications for issuing 1,00,000 equity shares of
% 10 each at a premium of ¥ 2 per share. The amount per share was
payable as follows : ¥ 4 (including premium) on application, ¥ 5 on
allotment and balance on first and final call. Applications were
received for 1,80,000 shares of which applications for 30,000 shares
were rejected and remaining applicants were allotted shares on pro-rata
basis. Mansi holding 5,000 shares failed to pay first and final call
money and her shares were forfeited.

Pass necessary Journal entries for the above transactions in the
books of the company. 6

25. Pass the necessary journal entries for the following transactions on the
dissolution of the partnership firm of Mohit and Rohit after the various
assets (other than cash and bank) and the third party liabilities have been
transferred to realisation account :

(1) A machine which was not recorded in the books was taken over by
Mohit at ¥ 7,000; whereas its expected value was ¥ 10,000.

(1) Rohit’s loan of ¥ 15,000 was settled at ¥ 13,500.

(111) The firm had investments of ¥ 1,00,000. Mohit took over 50% of the
investments at a discount of 10%, while the remaining investments
were sold off for ¥ 60,000.

(1v) Realisation expenses amounted to ¥ 23,000.

(v) Sundry creditors amounting to ¥ 45,000 were settled at a discount of
% 2,000.

(vi) Loss on realisation ¥ 12,000 was divided between the partners in
their profit sharing ratio. 6

26. Pass necessary journal entries relating to issue of debentures and to write
off discount/loss on issue of debentures in the books of Srijan Ltd. in the
following cases :

(1) 900, 6% debentures of ¥ 1,000 each are issued at 5% discount and
redeemable at par. Balance in Securities Premium account 1is
% 50,000.

(1) 700, 8% debentures of ¥ 1,000 each are issued at 10% discount and
redeemable at a premium of 10%. Balance in Securities Premium
account 1s ¥ 1,00,000. 6
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T -G
foepea - 1
(Fercfir feraon 1 fargetwon)

27. (a) A1 : foxfia orRameheTdi 1 draryr U 3Tm <l Erelehtiors MR G T 7 |

YA 11 : i ARl | Icd=1 8H aTel Uehe JaTal i JUeh €9 § Fehe HET
TEcaqul & Rifeh I8 Ufaffere hiar g fob form wfmn aop wreft o qen Tehe
TATE o1 3cd i oh oIT HETEHT I Gl fohdT TRIT R |

TrefeRaa @ @&t fehea 1 w57 i

(A) H I aATHYT 1S T 8 |

(B) ¥ I du1 Y [ Q1 e & |

(C) F[TeAd 8 M HIA I TS 2 |

(D) %Y1 TE 8 N HYF [[ T 2 | 1

GO
(b) ‘AT AT T T YPIAH' - T Uehg YaTE Teraror 9 =1 Jorel g 2

(A) TN fRamshadl | Sfadts |

(B) Trawr fspamepetdi & sfgaig |

(C) Terfiam fsramehemdi 4 sfgals |

(D) T3 YEITE T hig T T& | 1
28. ) fosha )
Fram 2,00,000 1,80,000
@i 3,00,000 —
Sudierd g1 & ‘R fpenetrdl & Tehg waTg’ 8
(A) T 3,20,000 HA=<dig (B) % 3,20,000 sfgdig
(C) % 20,000 sfgats (D) % 20,000 3T=<dig 1

29. (a) ‘Tori forawon o forgcivor i 98 debrieh ST Ush 3 shi TIYICdT, IMEFETHAT qei
HRITHAT ST AThe i T TERIAT LT 8, A ST & -

(A) ke vaTE foaao (B) qeTcHeh fereron
(C) T AR feewo (D) AuTa foreryor 1
COCH
(b) __ 3T SiIE SFT A9 ot ST S1ar & |
(A) =Te] AT (B) et JAgIIq
(C) et AT U (D) e Wy St 1
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PART -B
OPTION -1
(Analysis of Financial Statements)

27. (a) Statement I : Financing activities relate to long term funds or
capital of an enterprise.

Statement II : Separate disclosure of cash flows arising from
financing activities is important because they represent the
extent to which expenditures have been made for resources
intended to generate future income and cash flows.

Choose the correct option from the following :

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is incorrect and Statement II is correct.

(D) Statement I is correct and Statement II is incorrect. 1

OR
(b) What will be the effect of transaction ‘Payment of employee benefit
expenses’ on the cash flow statement ?

(A) Outflow from operating activities.

(B) Outflow from investing activities.

(C) Outflow from financing activities.

(D) No effect on cash flow. 1
28. Purchased ) Sold })
Investments 2,00,000 1,80,000
Goodwill 3,00,000 —
From the above information, ‘Cash flows from investing activities’ will be :
(A) Inflow X 3,20,000 (B) Outflow % 3,20,000
(C) Outflow % 20,000 (D) Inflow % 20,000 1

29. (a) The tool of ‘Analysis of Financial Statements’ which helps to assess
the profitability, solvency and efficiency of an enterprise is known as :

(A) Cash flow statement (B) Comparative statement
(C) Common size statement (D) Ratio analysis 1
OR
(b) ___ 1s also known as the Acid Test Ratio.
(A) Current ratio (B) Quick ratio
(C) Gross profit ratio (D) Return on investment ratio 1
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30. wmw fafide #1 @ FgUE 1.5:1 8 | FfaRad § & foha o@-¢F =1 afom @
JIUTA § HHT g 2
(A) T 10,000 AR Sl F&37 T Z 12,000 H S=T1 TR |
(B) SATIR 9T & T 41,000 UhS Uehid foharm 7T |
(C) T 38,000 % TIC HTcT b1 shY fehal 7T |
(D) FERI @ ¥ 11,000 T YA feram 1T |
31. ot arffRm, 2013 3 SR 111, 9T 1 S8R Teh ot o fRufa foemor 4 =
el ! foh & Sfiveni v 3u-3fiveni (Afg 1E ) o t=aia Jqa femam St
() dsa rfim (i) AW T I (iii) TR TUT TR e
32. U fetfiee 1 i Wi /@hiE 2 1,00,000 7 71 Wieh 3TTex 3HI 6 AT & | I e

] ST § AT W 25% SATH I =1 7T 8 A S=Ter § 3707 <hl TRT <hl T0HT <hIfSTe | 3
33. (a) T g=a1 & v fofide 1 amm= smer fRuf foawor dam <hifse 4
31 W=, 2023 o v foafies o e foemor
ferator ded. | 31.3.2023 31.3.2022
® ®
I. OUdrug ¥ :
1. Iy /TRares et
(a) HHaT 37/ Y 30,00,000 15,00,000
(b) TIF TG IR 10,00,000 5,00,000
2. 39 <Iand 20,00,000 20,00,000
3. 9o A 20,00,000 10,00,000
FA 80,00,000 50,00,000
II. yfEwRET:
1. 3=« gt 40,00,000 30,00,000
2. =T aiEEREt
(2) T (AT 40,00,000 20,00,000
o 80,00,000 50,00,000
AT
(b) T g @ s ferfies &1 qerTeeh ey -1 forawor dam hifs 4
Tt 31.3.2023 31.3.2022
T 3P (3) 40,00,000 20,00,000
ST Rieh 1 367 (3) 24,00,000 12,00,000
T2ieh U IR (ST Tieh sha T %) 25% 20%
I () 2,00,000 1,60,000
gy 40% 40%
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(D) Creditors were paid T 11,000. 1
Under which Major Heads and Sub-Heads (if any) will the following items
be presented in the Balance Sheet of a company as per Schedule III, Part
I of the Companies Act, 2013 ?
(1) Capital Advances (11) Income received in Advance
(111) Stores and Spare Parts 3
The average inventory of AB Ltd. is ¥ 1,00,000 and the inventory turnover
ratio is 6 times. Calculate the amount of revenue from operations if goods
are sold at a profit of 25% on revenue from operations. 3
(a) Prepare a Common Size Balance Sheet of X Ltd. from the following
information : 4
Balance Sheet of X Ltd. as on 31st March, 2023
Particulars Note | 31.3.2023 31.3.2022
No. ®) ®)
I. Equity and Liabilities :
1. Shareholders’ funds
(a) Equity Share Capital 30,00,000 15,00,000
(b) Reserves and Surplus 10,00,000 5,00,000
2. Non-current liabilities 20,00,000 20,00,000
3. Current Liabilities 20,00,000 10,00,000
Total 80,00,000 50,00,000
II. Assets :
1. Non-current assets 40,00,000 30,00,000
2. Current assets
(a) Inventories 40,00,000 20,00,000
Total 80,00,000 50,00,000
OR
From the following information prepare a Comparative Statement of
Profit and Loss of Y Litd : 4
Particulars 31.3.2023 31.3.2022
Revenue from operations (%) 40,00,000 20,00,000
Purchase of stock in trade (%) 24,00,000 12,00,000
Change in inventories (% of purchase 25% 20%
of stock in trade)
Other expenses (%) 2,00,000 1,60,000
Tax rate 40% 40%
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Quick ratio of Megamart Ltd. is 1.5:1. Which of the following transactions
will result in decrease in this ratio ?

(A) Sale of goods costing ¥ 10,000 for ¥ 12,000.

(B) Cash collected from trade receivables ¥ 41,000.

(C) Purchase of goods for cash ¥ 38,000.
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34. 31.3.2023 i WRq 79 feAfirde 1 fefa feremor f yemm o -

31.3.2023 = WRa g fefies ot feufa faawor
e Mg, | 31.3.2023 [ 31.3.2022
] ®) ®)
I G911 ANl ;
1. IWERes HitET
(a) 31 14,00,000 | 10,00,000
(b) H=I T I 1 5,00,000 | 4,00,000
2. 3 <IN
ErHehTel YT 5,00,000 | 1,40,000
3. =Te] ¢Fand
(a) AU <F 1,00,000 60,000
(b) Y- JTFEH 2 80,000 60,000
25,80,000 | 16,60,000
I1 uiemfeEt
1. 7=d yREmfEt
(a) TR it
(T, B TS U0 AT
U]
(i) w5 feefEr 3 | 16,00,000 | 9,00,000
(U, T3 Td 3UHN)
(ii) Wm 4 1,40,000 | 2,00,000
2.
(a) ik (HIeTg=) 2,50,000 | 2,00,000
(b) ST ITH 5,00,000 | 3,00,000
(c) S Td Uhg oo 90,000 60,000
25,80,000 | 16,60,000
Qi < e
e E. Taaor 31.3.2023 [ 31.3.2022
® ®
1. | 999 Ud 3y
T —BTH Tereor o1 3w 5,00,000 | 4,00,000
5,00,000 | 4,00,000
2. | Tg-afy yay :
EIRNICOIC] 80,000 60,000
80,000 60,000
3. @W
(gut, T qUT 3UHT)
e 18,50,000 | 10,00,000
T : ThA Toag™ (2,50,000) | (1,00,000)
16,00,000 | 9,00,000
4. %ﬂﬁ&lﬂﬁ?ﬁ
1,40,000 | 2,00,000
1,40,000 | 2,00,000
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34. Following is the Balance Sheet of Bharat Gas Ltd. as at 31.3.2023 :
Balance Sheet of Bharat Gas Ltd. as at 31.3.2023

Particulars Note | 31.3.2023 | 31.3.2022
No. ®) ®)
I Equity and Liabilities :
1. Shareholders’ funds
(a) Share capital 14,00,000 | 10,00,000
(b) Reserves and Surplus 1 5,00,000 | 4,00,000
2. Non-current Liabilities
Long term borrowings 5,00,000 | 1,40,000
3. Current liabilities
(a) Trade payables 1,00,000 60,000
(b) Short term provisions 2 80,000 60,000
Total 25,80,000 | 16,60,000
II Assets:
1. Non-current Assets
(a) Fixed Assets
(Property, plant & equipment
and intangible assets)
(1) Tangible assets 3 16,00,000 | 9,00,000
(Property, plant & equipment)
(11) Intangible assets 4 1,40,000 | 2,00,000
2. Current Assets
(a) Inventories 2,50,000 | 2,00,000
(b) Trade receivables 5,00,000 | 3,00,000
(¢) Cash and cash equivalents 90,000 60,000
Total 25,80,000 | 16,60,000
Notes to Accounts :
Note Particulars 31.3.2023 | 31.3.2022
No. ®) ®)
1. | Reserves and Surplus :
Balance in Statement of Profit and Loss 5,00,000 4,00,000
5,00,000 4,00,000
2. | Short term provisions :
Provision for Taxation 80,000 60,000
80,000 60,000
3. | Tangible Assets :
(Property, plant and equipment)
Machinery 18,50,000 | 10,00,000
Less : Accumulated Depreciation (2,560,000) | (1,00,000)
16,00,000 9,00,000
4. | Intangible Assets :
Goodwill 1,40,000 2,00,000
1,40,000 2,00,000
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ferfar =T : 99 % SR 2 3,00,000 AFTA i Th A o1, T8 T THEA Jeag™
% 45,000 o1, ¥ 1,35,000 H =1 =T |
Tt TshaTehcTdl 8 Uehe YaTg hl TUMT hHIfST |

0 -g
feepew — 11
(Trhier @)
27. (a) UeEe Feferiga § & i & TR TTer Tgl 1 §uH HEe ST R
(A)  TOT ST TAT ST (B) T AT QAT 0T AT
(C) @TdTeh AT IUT AT (D) EHT qUT WIT &
GO
(b) THEA 2007 T TeraT dfFaal Iuctsd Bl & ?
(A) 5663 (B) 65536
(C) 72257 (D) 4332
28. THA ¥ ‘Tuet 91 dey ot ‘Tfsa e’ o Jeue hE hi St B 2
(A) $ Toga =1y Fh (B) £ Torga =1 W Hh
(C) # Torga =1 W b (D) ~ Torga =1 w=I
29. (a) U T USRI AT 1 THT W 511 Teh ST S{GAT i JGATIhT &, STHT ST 3
(A) I @I (B) =21 3A
(C) iR wse (D) ©iSis
GO

(b) TS T TA. . 5.0A. w8, (LABELS) 1 32 2
(A) Th eae 3Uan fafire gt
(B) Hfell, Tl AT ST T oh foTC T feohal ST % |
(C) TITOTCHa &9 1 Iu=Tie foha ST Eehall 2 |
(D) (A) @ (B) e

30. T ¥ 9 S 91 QiR o MUl X shl HHT 8 J9Ifd 3 99T Sigeaal 221 hue

SHE R ?
(A) e (B) wffther
(C) SHfER (D) (A) @ (B) gHI

31. 3CTEXUI ! HERIT & ‘3TI5hileh I’ TUT Solich IS Tl THATT, |
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Adjustments : During the year a machine costing ¥ 3,00,000 on which
accumulated depreciation was ¥ 45,000 was sold for T 1,35,000.

Calculate ‘Cash flows from Operating Activities’. 6

PART-B
OPTION -11
(Computerised Accounting)

27. (a) Excel considers which of the following group of mathematical
operations of equal importance ?

(A) Multiplication and Addition (B) Division and Multiplication

(C) Exponent and Multiplication (D) Subtraction and Division 1
OR
(b) How many rows are available in Excel 2007 ?
(A) 5663 (B) 65536
(C) 72257 (D) 4332 1

28. How are ‘absolute cell references’ and ‘mixed reference’ identified in Excel ?
(A) using $ sign (B) using £ sign
(C) using # sign (D) using ~ sign 1

29. (a) ‘A piece of information shown in a graph which is assigned to the
data series’ is known as :

(A) data point (B) data table
(C) plot point (D) legend 1
OR

(b) ‘LABELS’ in Excel means :
(A) A text or special character
(B) Used for rows, columns or descriptive information

(C) Can be treated mathematically
(D) (A) and (B) both 1

30. Which of the following type of software suffers from the limitation of low
secrecy level and software being prone to data frauds ?

(A) tailored (B) specific
(C) generic (D) (A) and (B) both 1
31. Explain ‘Sequential Codes’ and ‘Block Codes’ with examples. 3

67/4/3/21/QSS4R Page 29 of 32 P.T.O.




@collegebatch_com

32. THEA § WM I (e fag’ o1 ST e foRen STt 8 7 9wWensy |

33. (a) Sooi@ IR foh Th =1 ! Iaei hl STETTHA] &1 TSl & 7 38 hY Feell S
Hehdl & ? IE HT hal JIdT & foh Teh hicH T hl -1 § ST TEH Bidl
2 ? BT T |

3YdT
(b)  SNYHITT IGTeRT TUTTEAT & SATHT T Iooi@ HINTT |

34. : ’

Insert Pagelayout Formulas Data Review View () Tel

Calibri -1
& Copy ~ ’ i
Paste ; AN e
. ¥ Format Painter BI U-ibi-s
Clipboard fa Font i Alignment &
B13 - e > v L8
4 A G RRstEl e E LoaRsY By R
1| wd | wom | e e v P e o: i R
2| 1 T 10000 15000 25000
3| 2 Eil 40000 35000 75000
4| 3 kil 25000| 40000 65000
5| 4 Ell 30000 50000 80000
6| 5 3 34000| 45000 79000
7| 6 TH 12000 30000 42000
8| 7 Ell 38000 56000 94000

Fehufie T TN hid 7Y feu MU ‘diggshar’ are fa=rma (VLOOKUP f&aw) Ffe qen
8k SHIUT 1 Jell SIS | 6

(i) =diegpam &1, 2 :38, 2, 0)

(i) = THRIIE (FehaTd (S5, 8 : 38, 2, 0) — 100000)
(iii) = iefeh3TT (T2, U2 : TS, 2, 0)

(iv) =diegham (&2, i3, 24, 5, 0)

(v) =dioam (&2, T2 :38, 0, 0)

(vi) =diegham (&2, 2, 38, 2, 0)/0
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32. How to use ‘Mark Common Formula Error’ in Excel ? Explain.

33. (a) State why do you need to change a chart ? How can it be changed ?
Why is it said that changing a column chart to a pie chart is easy ?
Give reasons.

OR

(b) State the advantages of computerized accounting system.

insert Pagelayout Formulas Data Review View () Tell me what

Paste e Sty
. ¥ Format Painter =
Clipboard fa Font 5 Alignment 5
B13 v _fr L

4 A € D E | {5 Gip H
1 |S. No| Product | Q1 sales | Q2 Sales | Total half yearly sales

2 1 A 10000 15000 25000
3] 2 B 40000 35000 75000
4] 3 C 25000 40000 65000
5| 4 D 30000 50000 80000
6] 5 E 34000 45000 79000
7] 6 F 12000 30000 42000
8 | 7 G 38000 56000 94000

Using the worksheet find out the error and its reason for the given
‘VLOOKUP’ syntax.

(i) =VLOOKUP (B1, B2: ES, 2, 0)

(i) =SQRT (VLOOKUP (B5, BS : ES, 2, 0) — 100000)
(ili) = VLOOKUP (A2, A2 : A8, 2, 0)

(iv) = VLOOKUP (B2, B3, E4, 5, 0)

(v) =VLOOKUP (B2, A2 : ES8, 0, 0)

(vi) = VLOOKUP (B2, B2, ES, 2, 0)/0
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